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7 The sketch shows part of the curve with equation y = f(x).
Ya

{a) On Figure 2 below, sketch the curve with equation y = | f(x)]. (3 marks)
(b) On Figure 3 opposite, sketch the curve with equation y = f{|x|). (2 marks)
(c) Describe a sequence of two geometrical transformations that maps the graph of

y = f(x) onto the graph of y = %:f (x+1). (4 marks)
{d) The maximum point of the curve with equation y = f(x) has coordinates (—1, 10).

Find the coordinates of the maximum point of the curve with equation y = %f (x+1).
(2 marks)

" | Answer space for question 7

REFERENCE|

(a) Figure 2
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